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1½ m|eh gksrk gS & (Entrepreneur is) -

a) ,d O;fDr ftlds efLr"d esa fopkj vkrk gSA
(A person who conceives the idea)

b) ,d O;fDr tks lHkh lk/kuksa dks ,df=r djrk gSA
(A person who arranges all the resources.)

c) ,d O;fDr tks vius fopkjksa dks fØ;kRed :i iznku djrk gS
(A person who gives practical shape to his ideas)

d) mijksDr lHkh (All of the above)

2½ m|e dk egRo fuEu esa ls fdl dkj.k ls gksrk gS
(Out of which reason the entrepreneur is important ?)

a) O;olkf;d tksf[ke mBkuk (Bearing business risk)

b) cM+s iSekus ij mRiknu (Large scale production)

c) jkstxkj ds voljksa esa of̀) (Increase in employment opportunities)

d) mijksDr lHkh (All of the above)

3½ ^^m|ferk oLrqr% ,d lt̀ukRed fØ;k gS** ;g dFku fdldk gS* \
("Basically entrepreneurship is a creative activity" who said this ?)

a) 'kqEihVj (Schumpeter)

b) ihVj Mªdj (Peter  Drucker)

c) gkslfyt (Hoselitz)

d) mijksDr esa ls dksbZ ugha (None of the above)

General Instructins
1- bl iz'ui= esa dqy 50 iz'u gSA

This question paper contain 50 questions in all
2- lHkh iz'uksa ds mÙkj nsaA Answer all questions.
3- izR;sd iz'u 2 vad dk gSA Each question carry 2 marks.
4- izR;sd iz'u ds fy, dsoy ,d lgh mÙkj dks pqusaA

Select only one correct answer for each questions.

4½ m|ferk [ksy gS \ (Entrepreneurship is a game of) -
a) /ku dk  (Money) b) le; dk (Time)
c) pkrq;Z dk (Skill) d) blesa ls dksbZ ugha (None of the above)

5½ m|ferk dh vko';drk gS \ (Entrepreneurship is needed) -
a) fodflr vFkZO;oLFkk esa (In developed economy)
b) vfodflr vFkZO;oLFkk esa (In undevelopment economy)
c) fodkl'khy vFkZO;oLFkk esa (In developing economy)
d) lHkh izdkj dh vFkZO;oLFkk esa (In all types of economy)

6½ ns'k ds vkS|ksfxd fodkl ds fy, m|eh gS \
(For industrial development entrepreneur is) -
a) vuko';d (Unnecessary) b) vko';d (Necessary)
c) Hkkj (Burden) d) /ku dh cckZnh (Wastage of money)

7½ ^^m|eh lqfopkfjr tksf[ke ogydÙkkZ gksrs gS** ;g dFku fdldk gS \
("Entrepreneurship are calculated risktakers" whose statement is this?)
a) tkslsQ vkj ekjdwlks (Joseph R. Marcuso)
b) esjsfMFk rFkk usYlu (Meredith and Nelson)
c) bZ- bZ- gsxu (E. E. Hagen)
d) mijksDr esa ls dksbZ ugha (None of the above)

8½ m|ferk fodkl dk;ZØe ds mís'; fuEu esa ls dkSu ls gSa\
(What are the objectives of EDP out of the following) -
a) Lojkstxkj dh Hkkouk tkx̀r djuk

(To generate spirit of self employment)
b) u;s m|eh; voljksa dk fodkl djuk

(To develop new entrepreneurial opportunities)
c) m|fe;ksa esa lkekftd mÙkjnkf;Ro dh Hkkouk tkx̀r djuk

(To develop social responsibility among entrepreneurs)
d) mijksDr lHkh (All of the above)

9½ Hkkjrh; fofu;ksx dsUæ dh LFkkiuk dh x;h Fkh
(India Investment Center was established by) -
a) Hkkjr ljdkj (By Government of India)
b) e/; izns'k ljdkj (By Madhya Pradesh Government)
c) egkjk"Vª ljdkj (By Maharastra Government)
d) xqtjkr ljdkj (By Gujrat Government)
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10½ m|ferk fodkl dk;ZØe dk mís'; gS \
(Objective of entrepreneurial development programme is) -
a) Lojkstxkj (Self-employment)
b) f'k{k.k ,ao izf'k{k.k (Education & training)
c) m|eh dkS'ky esa of̀) (Increase in skill of the entrepreneur)
d) blesa ls lHkh (All of these)

11½ m|ferk fodkl dk;ZØe dh dfe;k¡ fuEu esa ls dkSu&lh gS \
(Which of the following is the weakness of EDP) -
a) dksbZ jk"Vªh; uhfr ugha (No national policy)
b) ewyHkwr lqfo/kkvksa dh deh (Lack of basic infrastructural facility)
c) ljdkjh lqfo/kkvksa vkSj izsj.kkvksa dh deh

(Lack of government facility and incentives)
d) mijksDr lHkh (All of the above)

12½ Hkkjr esa cy fn;k tkrk gS \ (In India stress is given on) -
a) izf'k{k.k dsæ izf'k{k.k ij (On training centre training)
b) dk;Z&LFky izf'k{k.k ij (On the job training)
c) dk;Z ds ckgj izf'k{k.k ij (Off the job training)
d) mijksDr lHkh (All of the above)

13½ tkiku esa cy fn;k tkrk gS \ (In Japan stress is given on) -
a) dk;Z dk izf'k{k.k (On the job training)
b) dk;Z ds ckgj izf'k{k.k (Off the job training)
c) mijksDr ^v* vkSj ^c* nksuksa ('a' and 'b' above)
d) mijksDr u ^v* vkSj u ^c* (Neither 'a' or 'b')

14½ m|ferk fodkl dk;ZØe fdlds fy, vf/kd t:jh gS \
(EDP is more necessary incase of) -
a) izFke ih<+h (First generation)
b) oÙkZeku ih<+h (Existing entrepreneurs)
c) Hkkoh m|eh (Future entrepreneurs)
d) mijksDr lHkh (All of the above)

15½ Hkkjrh; m|ferk fodkl laLFkku fLFkr gS \
(Entrepreneurial Development Institute of India is situated in) -
a) vgenkckn (Ahmadabad) b) eqEcbZ esa (Mumbai)
c) ubZ fnYyh esa (New Delhi) d) psUubZ esa (Chennai)

16½ EDP dk iwjk uke gS & (EDP stands for) -
a) m|ferk fodkl dk;ZØe (Entrepreneurial Development Programme)
b) vkfFkZd fodkl dk;ZØe (Economics Development Programme)
c) f'k{kk fodkl dk;ZØe (Educational Development Programme)
d) vaxzsth fodkl dk;ZØe (English Development Programme)

17½ m|eh jkstxkj ds voljksa esa djrk gSS &
(Entrepreneur in employment opportunities) -
a) of̀) (Increase) b) deh (Decrease)
c) u deh u of̀) (Neither decrease nor increase)
d) buesa ls dksbZ ugha (None of these)

18½ m|eh egRoiw.kZ ;ksxnku djrk gS &
(Entrepreneur plays an importants role) -
a) jktuhfrd fodkl esa (In political development)
b) lkekftd fodkl esa (In social development)
c) vkfFkZd fodkl esa (In economic development)
d) buesa ls fdlh esa ugha (None of these)

19½ SIDBI dk vFkZ gS & (SIDBI means) -
a) y?kq m|ksx fodkl izf/kdj.k

(Small Industries Development Corporation)
b) flQZ m|ksx fodkl (Only Industries Development)
c) y?kq m|ksx fodkl izf'k{k.k (Small Indusries Development Training)
d) jkT; m|ksx fodkl izkf/kdj.k (State Industries Corporation)

20½ lsok miØe esa midj.kksa esa fuos'k dh vf/kdre lhek ekbØks m|e ds
fy, ^ekbØks Leky ehfM;e ,UVjizkbt vf/kfu;e] 2006 esa D;k gS \
(Incase of service entreprise what is the maximum limit of investment
under MSMED Act 2006 incase of micro entreprise) -
a) 10 yk[k (10 Lakh) b) 25 yk[k (25 lakh)
c) 50 yk[k (50 Lakh) d) 1 djksM+ (1 Crore)

21½ izkså jksLVkso us viuh iqLrd "The Problem of economic growth" esa
vkfFkZd fodkl dh fdruh voLFkk,a crk;h gS \
(Prof. Rostow has given how many stages of economic growth in his
book named "The Problem of economic growth" ?)
a) ,d (One) b) nks (Two) c) pkj (four) d) ik¡p (Five)
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22½ y?kq Lrjh; m|ksxksa esa (SSI) esa fofu;ksx lhek gS &
(The investment limit of SSI does not exceed)

a) ,d djksM+ rd (One Crore) b) nks djksM+ (Two Crore)

c) rhu djksM+ (Three Crore) d) nl djksM+ (Ten Crore)

23½ Hkkjr esa csjkstxkjh dh leL;k dk lek/kku fufgr gS \
(Solution of unemployment problem of India lies in :)

a) dqVhj m|ksx esa (Cottage industries)

b) vfr y?kq ,oa xzkeh.k m|ksx (Tiny and village industries)

c) y?kq ,ao dqVhj m|ksx (Small and cottage industries)

d) mijksDr esa ls dksbZ ugha (None of these)

24½ Hkkjr esa y?kq m|ksxksa dk iath;u djkuk gS &
(In India, registration of small industries is) -

a) ,sfPNd (Voluntary) b) vko';d (Necessary)

c) vfuok;Z (Compulsory) d) buesa ls dksbZ ugha (None of these)

25½ okf.kT; ---------------- dk vax gS & (Commerce is a part of) -

a) O;olk; (Business) b) O;kikj (Trade)

c) m|ksx (Industry) d) is'kk (Profession)

26½ m|ferh; vuqlj.k dh vko';drk D;ksa gS &
(Why entrepreneurial pursuit is necessary ?) -

a) jk"Vªh; vk; esa of̀) ds fy, (To increase the national income)

b) jkstxkj lt̀u ds fy, (To generate employment)

c) larqfyr {ks=h; fodkl ds fy, (For balanced regional development)

d) mijksDr lHkh ds fy, (For all of the above)

27½ fØ;kvksa dks vkfFkZd ,oa vukfDkZd vk/kkj ij j[kus dk D;k vk/kkj
gksrk gS & (What is the basis for the classification of economics of
economic and non-economic activities) -

a) fØ;k dk iz;kstu vFkok mís'; (Objective of the activity)

b) fØ;k dk /ku ls izR;{k laca/k (Direct relation of activity with wealth)

c) fØ;k dh oS/kkfudrk (Legality of the activity)

d) mijksDr lHkh (All of the above)

28½ --------------- ds vuqlkj ^^O;olk; ds vUrxZr mlh ekuoh; fØ;k dks
'kkfey djrs gS] tks oLrqvksa ds Ø;&foØ; ls /ku mRiUu djus ds
fy, dh tkrh gSA** (According to ...................... "Business means
human activity directed towards producing or acquiring wealth
through buying and selling of goods.) -
a) ,y-,p- gSus (L.H. Haney)

b) ihVjlu ,oa IykÅeSu (Peterson and Plowman)
c) Lizhxy (Spriegal)
d) mijksDr esa ls dksbZ ugha (None of the above)

29½ ,sls /kU/ks dks fdl uke ls iqdkjrs gSa ftlesa yksx fu;fer :i ls
nwljksa ds fy, dk;Z djrs gSa vkSj cnys esa ikfjJfed izkIr djrs gSaA
(The occupation in which people work for others and get remuneration
in return is known as :) -
a) O;olk; (Business) b) jkstxkj (Empolyment)

c) is'kk (Profession) d) buesa ls dksbZ ugha (None of these)

30½ ^^ykHk] gkfu ;k {kfr ds laca/k esa vfuf'prrk dks tksf[ke dgrs gSaA**
;g dFku gSA (Risk may be defined as uncertainity in regard to cost,
loss or damage" This statement is of) -
a) Oghyj (Wheeler) b) Mªdj (Drucker)
c) gkMsZ (Hardy) d) esgrk (Mehta)

31½ O;olkf;d tksf[ke ds dkj.k gS % (Cause of business risk are) -

a) ekuoh; (Human) b) HkkSfrd (Physical)
c) izk�frd (Natural) d) ;s lHkh (All of these)

32½ uokpkj mRiUu djrk gSA (Innovation produces) -
a) uohu mRikn (New Product)
b) u;s cktkj (New market)
c) uohu laxBu lajpuk (New Organisation Structure)
d) mijksDr lHkh (All of these)

33½ ekLyks ds vuqlkj lcls var esa fdl vko';drk dh larqf"V gksrh gSaA
(According to Maslow which needs are satisfied at last ?) -
a) thou fuokZg (Physiological) b) lkekftd (Social)
c) vkRe fodkl (Self-actuatization) d) lqj{kk (Safety)
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34½ fuEu esa dkSu&lk ,d foÙkh; vfHkizjs.kk dk izk:i gSA
(Which of the following is a form of financial incentive) -
a) iz'kalk (Praise) b) osru (Salary)
c) Hkkxhnkjh (Participation) d) inksUufr (Promotion)

35½ ,- ,p ekLyks ------------------- fuoklh FksA
(A. H. Maslow was the resident of .....................) -
a) teZuh (Germany) b) vesfjdk (America)
c) tkiku (Japan) d) buesa ls dksbZ ugha (None of these)

36½ usrR̀o gS % (The leadership is :) -
a) le; dh cckZnh (Wastage of time) b) vok';d (necessary)
c) /ku dh cckZnh (Wastage of money) d) vuko';d (Unnecessary)

37½ lEizs"k.k gksuk pkfg, % (Communication should be :) -
a) ljy (Simple) b) dfBu (Difficult)
c) f=&ekxhZ; (Three-way) d) buesa ls dksbZ ugha (None of these)

38½ tktZ vkj- VSjh ds vuqlkj fu;kstu ds izdkj gSaA
(According to George R. Terry, the type of planning are :) -
a) 8 b) 6 c) 4 d) 2

39½ fu.kZ;u dk dk;Z gS % (The function of decision making is of :) -
a) fuEu izca/k (Lower Management)
b) ek/;e izca/k (Middle Management)
c) mPp izca/k (Top Management)
d) lHkh izca/kdh; Lrj (All levels of management)

40½ m|ferk dh ck/kk;sa gS % (Barries of entrepreneurship)-
a) cktkj dh ck/kk (Marketing barries)
b) lqfo/kkvksa dh ck/kk (Facilities barries)
c) nks"kiw.kZ dj <k¡pk (Defective tax structure)
d) mijksDr lHkha (All of the above)

41½ m|ferh; {kerkvksa ds fy, vko';d gS %
(Entrepreneurial competences require) -
a) Kku (Knowledge) b) mís'; (Motive)
c) fuiq.krk (Skill) d) mijksDr lHkh (All of the above)

42½ ,fDtl cSad dh LFkkiuk dc dh xbZ %
(When was Exis Bank established) -
a) 1982 b) 1992 c) 1974 d) 1976

43½ Hkkjrh; ;wfuV VªLV dh LFkkiuk dc gqbZ %
(When was Unit trust of India (UTI) established) -
a) 1964 b) 1975 c) 1971 d) 1976

44½ fuEu esa ls foi.ku dk dk;Z dkSu&lk gS %
(Which of the following is a marketing activity :) -
a) lao)Zu (Promotion) b) ifjogu (Transportation)
c) HkkSfrd forj.k (Physical distribution)
d) buesa ls lHkh (All of these)

45½ foi.ku ds vk/kkj dkSu gksrs gSa (Which are the basis of marketing :) -
a) cktkj (Market) b) xzkgd (Customer)
c) foi.kudÙkkZ (Marketer) d) mijksDr lHkh (All of the above)

46½ cktkj dk izfrLi)kZRed fo'ys"k.k dh vko';drk D;ksa gS %
(Why it is necessary to study competitive analysis of the market) -
a) mRiknu dh ykxr de djus ds fy, (To reduce cost of production)
b) mRiknu dh forj.k O;oLFkk esa lq/kkj ds fy,

(To improve distribution arrangement of the product)
c) mRiknu dh xq.koÙkk esa lq/kkj ds fy,

(To improve the quality of the product)
d) mijksDr rhuksa ds fy, (For all of the three above)

47½ ,d vPNk czk.M gksrk gS % (A good brand is) -
a) vf}rh; (Unique) b) ljy (Simple)
c) vklkuh ls ;kn j[kus ;ksX; (Easy to remember)
d) ;s lHkh (All of these)

48½ isVs.V vf/kfu;e fdl o"kZ ls ykxw gqvk %
(Patent Act came into force in the year) -
a) 1970 b) 1975 c) 1972 d) 1973

49½ ,d O;kolkf;d fpUg dk iathdj.k fdruh vof/k dk gksxkA
(The registration of a trademark shall be for a period of :) -
a) 3 o"kZ (3 year) b) 6 o"kZ (6 year)
c) 7 o"kZ (3 year) d) 9 o"kZ (3 year)

50½ fuEu esa ls fVdkÅ mRikn dk mnkgj.k dkSu&lk gS \
(Which of the following is an example of durable goods ?)
a) QuhZpj (Furniture) b) ued (Salt)
c) eksecÙkh (Candle) d) nw/k (Milk)


